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1.Click the Exhibit button.

Awidgets:

total 4

drwxr-—xr-x 2 Jjsne Jare 512 Apr 23 08:36
dirl

o Sl Sl g 2 jane Jare 47 Apr Z3 08:38
finder

CSwidgets /dird:
total O

drwxr-xr-x 3 jane Jjare 512 Apr 23 08:38
widgets

drxr—xr-x 2 jane Jare 512 Apr 23 08:36
widgets/dirl

The exhibit shows information about data in Jane's home directory. Which answer
describes where the directory named dir1 is stored within the file system.

A. In the inode associated with directory dir1

B. In the directory file called dir1

C. In the ACL associated with dir1

D. In the directory file called widgets

E. In the inode associated with directory widgets

F. In the ACL associated with widgets

Answer: D

2.Jane is trying to configure the swat utility. The software and man pages are located in
the /usr/sfw directory. When Jane attempts to use the man command the following
message appears:

$ man swat No manual entry for swat.

Choose the command that Jane can execute to display the man page.?

A. man /usr/sfw/swat

B. man -f /usr/sfw/swat

C. man -M /usr/sfw/man swat

D. man -s 1M swat

Answer: C

3.Click the Exhibit button.

Examine the exhibit. Choose the answer the best describes the 8th field of the output of
an Is command.

A. file creation time

B. inode change time

C. last access time

D. last modify time

Answer: D



4.Consider the following command:

$cal 91752

The cal command is followed by which one of the following choices? A. arguments
B. options

C. variables

D. preferences

Answer: A

5.Click the Exhibit button.

tatal 2260

S m o o 2 Jome Jam= 33 .B_pl: i |
0811 buctans

b ot i = 1 jop= JaE= 471 Apxo 22
13116 customer data

bl ] e 1 j=n= Jome 312 dpx 10
10:26 enbiky

~ Ly e P L jan= Jan= 153 Apz 23
FE11]l gadget

—tHrE==E— 1 3an= Fane 54 Apx 212
07050 gimmicks

=g = E— 1 3san= s e 18¥ Apz 12
14417 muddled

=g e=——===d | jans Jan= IDD44BE Apz 1Y
15:40 new car_deaka

Levsenmeums 1 jan= Jane 32 Apr 13
X130 repair -> Sfexporb/Shome/jane/thinga/fixit
=ES¥E=HE=X i1 3an= Jane 647 Apr 23
0B 38 seacch

“LWTE=E=— L Jan= Tane 202 Apr 13
07:37 snippets

g 1, Tt 1 Jans sules 16 Apx I3
07130 zonie

demse=2e=x L Jhnx Jane 312 Apz I3
07143 Ehings

desere=xe=x Y. Jans jans 512 Apy 23

GE 38 widgsts

4 ,'”:]Iil'lf_"rﬂ t

cotal ©

=P~ —E— 1 sans= lams 312 Kpr 21
2038 data-first

—E~HE-HE-} 1 §ans Tans €47 Ape 23
D743 fixae

—PH-E—E— 1 jans JERE F1R Ape 21
£0:34 lasz-data

LSaddgeta:

kotal 4

druxi=xz-x I jase jane 512 Apr 13
03:36 dicl

“tidr-¥r=x 2 Jjasc jane E47 Apr I3
058:38 findex

srvadgersfdacl:

bokal 0

Jane has listed the contents of her home directory as shown in the exhibit. Choose which
command she would have entered to produce this output.

A.ls-IR

B.Is -ILR

C.ls-Ir

D.Is-LR*

E.ls-Ir*



Answer: A

6.Your logging into the system as user Val, you are notified upon login that you must
change your user password on the system. Your current password is 2co0Olu! Choose the
password that meets the requirements for a user changing the password on a Solaris 10
system.

A. 2co0l4u

B. valiscol

C. 2C00L4u2

D. 321 123!

Answer: C

7.Click the Exhibit button.

# 1z -1

total 4

BERSE e 1 root root 35, 36-Apr 2511247
acme

—ruxrnxrwxt 1 root root o40 Apr 25 1Z:05
door pipe

Dr--r——r-—- 1 daewon  dasmon 0 Apr 10 23:35
kefd door

BEWKEWR LN 1 my=sqgl ryacl 0 Apr 10 Z3:36
myagl.sock

dewxr=xr=-x 2 root root 512 Apr 25 11:47
instance

prw-r-—r-- 1 root root 0 apr 25 11:44
oilline

lrmxruxcux 1 root root 14 Apr 25 11:43
screen —>» fusc/binfclear

bruw-e——-r—- 1 root root 35, 36 Apr 25 11:38
widget

The exhibit is a listing of your current directory. Based on the information shown, choose
the file from the listing that is a regular file.

A. acme

B. instance

C. screen

D. door_pipe

Answer: D

8.Tina has executed the following command:

$ affiliate.sh 2>>/var/log/worklog

Choose the statement that is true concerning this command.
A. stdin is redirected to a file.

B. stderr is redirected to a file.

C. stdout is redirected to a file.

D. all output from the script is redirected to a file.



Answer: B

9.Click the Exhibit button.

-bash-3.00% 1s -1

total 3958

—En-E——E—— £ janc oalco 253 Apr 23 082:11
buttons

“EW-EmnEo 1 jane Jjane 171 Apr: 22 13316
customer data

SEUSESSEsm 1 jane Jjane 0 Zpr 23 10:07%
ent .ty

R gy e Z jane sales i53 Apr 23 05:11
cfadgat

S o gl 1 janes jans 54 Apr 22 O7:38
girtilcks

e L b s 1 jane sales 1892 Apr 22 14:17
wuddled

TEWmem——— + 1 jane Jjane 2004480 Apr 13 15:40
new car_data

LrvrwH e 1 jane jane 32 Apr 23 07:50
repair -> /export/home/jans/things/fixit

g - 2 jane gales 647 Apr 23 08:38
search

=L —— 1 jane jane 283 ApE IT Bye3R
Snippets

e e e 1 jane sales 16 Apr 23 07:30
Fonoc

drwxr-xr-x Z jane jane 512 Apr 23 0F:43
things

drwxr-xr—x 3 jane jane 5312 Apr 23 DB:38
widgets

The exhibit shows a listing of Jane's directory. Consider the entry repair. Choose the
commands that might have been used to create this file.

A. cp /export/home/jane/things/fixit /export/home/jane/repair

B. In /export/home/jane/repair /export/home/jane/things/fixit

C. In /export/home/jane/things/fixit /export/home/jane/repair

D. mkfile 32b /export/home/jane/repair

E. In -s /export/home/jane/things/fixit /export/home/jane/repair

F. In -s /export/home/jane/repair /export’/home/jane/things/fixit

Answer: E

10.Jane is about to edit a file with the vi editor. She executes the following command:

$ vi /customer_sat.txt Choose the vi editor mode that Jane will be using when the file is
opened.

A. command mode

B. edit mode

C. last line mode

D. ex mode



Answer: A



